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/] 5 ZService
public class Service {
private String name;
private int unitPrice;
private int[] sortMonth = new int[13];
private int[] sellTotal = new int[14];
public Service(String name, int unitPrice) {
this. name = name;
this. unitPrice = unitPrice;
for(int 1 = 1; 1 < 13; i+H) {
\ 1) |
}

for(int 1 = 1; i < 14; i+H) {
sellTotalli] = 0;
}




}

(1% J av aEREDZHDRERE]

public void total(int month, int sales, int optionUnitPrice) {
int money = sales * (unitPrice + optionUnitPrice);
\ (2) | += money:
sellTotal[13] += money;

public void sortTotal() {
for(int idxMonth = 1; idxMonth < 12; idxMonth++) {
int max = idxMonth;
for(int idxTotal = idxMonth + 1; idxTotal < 13; idxTotal++) {
if(jellTota}Eideotaﬁ] > sellTotal[max]) {
3 ;
}

}

if(idxMonth != max) {
sellTotal[0] = sellTotal[idxMonth];
sellTotal [idxMonth] = sellTotal[max];
sellTotal [max] = sellTotall0];
sortlMonth[0] = sortMonth[idxMonth];
sortlMonth[idxMonth] = sortMonth[max];
sortMonth[max] = sortMonth[0];

}

}

public void printSellTotal() {
System. out. println(name) ;
for(int i = 1; i < 13; itH) {

System. out. printf ("¥t%2dH" + "¥t%, 7d¥n", sortMonth[i], sellTotall[il);

System. out. printf ("M F4FE" + "¥t%, Td¥n", sellTotall13]);

//7 5 Z(Cleaning

import java. io.BufferedReader;
import java. io.FileReader;
import java.util. Scanner;

public class Cleaning f

private static Servicel[] goods = new Service[21];
private static int[] optionUnitPrice = { 0, 100, 150, 200, 500, 800, 1200 };
public static void main(String[] args) {

try {

BufferedReader fileIn = new BufferedReader(new FileReader("goods.csv'"));

String line;

while((line = fileln.readLine()) != null) {
String[] str = line.split(",");
int code = Integer. parselnt(str[0]);
String name = strll1];
int unitPrice = Integer. parselnt(str[2]);
goods[code] = new Service(name, unitPrice);

}
fileln. closeQ);
fileln = new BufferedReader(new FileReader("selling. csv'")):
while((line = fileln.readLine()) != null) {
Stringl] str = line.split(",");
int serviceCode = Integer. parselnt(str[0]);
int month = Integer. parselnt(str[1]);
int sales = Integer. parselnt(str[2]);
int idx = | (4) &
int option = serviceCode % 10;
goods[idx]. total (month, sales, optionUnitPriceloption]);

}
fileln. closeQ;
} catch(Exception e) {
System. out. println("T 5 —=FAELEFLE" + e);

for(int i = 1; 1 < 21; i++H) {
goods[1]. sortTotal O ;

Scanner keyboardIn = new Scanner(System. in);
System. out. print (" — EZXFEGHE T — F(A~202 AL TLEE W, —=");
int code = keyboardIn. nextIntQ);
whiﬂe(code 1= 0) {() |
5 ;
System. out. print("H — E R T — F(I~200Z AL TL &V, —=");
code = keyboardIn. nextInt(Q;

}
keyboardIn. close();
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Option Explicit
Dim EveCod(9) As Long, EveMei(9) As String, Tuki(12, 9) As Long, Syukei(12, 9) As Long, EveGok(9) As Long

Private Sub UserForm Initialize()

Dim g As Long, h As Long, Tuk As Long, Hi As Long, Ec As Long, Nyujo As Long, m As Long
TextBox1. Text = "": TextBox2.Text = ""
EveCod(1) = 101: EveCod(2) = 102: EveCod(3) = 103: EveCod(4) = 104: EveCod(5) = 105
EveCod(6) = 201: EveCod(7) = 202: EveCod(8) = 203: EveCod(9) = 204
Evellei(0) = "4&4 N> F434E": Evellei(1) = "FE#2": EveMei(2) = "a v #—+": Bvellei(3) = "B/RE": Evellei(4) = "FHiHE"
EvelMei(5) = "z(BL": EveMei(6) = "Wt « 7| : EveMei(7) = " 3 —": EvelMei(8) = "&%": Evellei(9) = "#ix"
For ¢ = 0 To 9

For h =1 To 12

(1)
Syukei(h, g) =0

Next h

EveGok(g) = 0
Next g
Open ThisWorkbook. Path & "¥nyujosya.csv" For Input As #1
Do While Not EOF(1)

Input #1, Tuk, Hi, Ec, Nyujo

m=1

Do While EveCod(m) <> Ec
m=m+1

Loop

Syukei(Tuk, m) = Syukei(Tuk, m) + Nyujo
Syukei(Tuk, 0) = Syukei(Tuk, 0) + Nyujo

\ @) |
EveGok(0) = EveGok(0) + Nyujo
Loop
Close #1
End Sub

Private Sub Ff7_ClickO
Dim n As Long, p As Long, Max As Long, t As Long, v As Long, Wari As Single
TextBox1. Text = ""
EveCod(0) = Val (TextBox2. Text)
n=9
Do While | ©) |
n=n-1
Loop
TextBox1. Text = EvelMei(n) & Chr(13) & Chr(10)
If Tuki(0, n) <> 99 Then

For p =1 To 11
Max = p
Fort =p+1 To 12
If | (4) | Then
Max = t
Else
If Syukei(t, n) = Syukei(Max, n) And Tuki(t, n) < Tuki(Max, n) Then
Max = t
End If
End If
Next t

If p <> Max Then
Syukei(0, n) = Syukei(p, n): Syukei(p, n) = Syukei(Max, n): Syukei(Max, n) = Syukei(0, n)
Tuki(0, n) = Tuki(p, n): Tuki(p, n) = Tuki(Max, n): Tuki(Max, n) = Tuki(0, n)
End If
Next p
Tuki(0, n) = 99
End If
TextBox1. Text = TextBoxl.Text & " H AGEHGEE MRk & Chr(13) & Chr(10)
For y = 1 To 12
Wari = Syukei(y, n) * 100 / EveGok(n)
TextBox1. Text = TextBoxl.Text & Format(Tuki(y, n), "#0") & "H" & " " & Format(Syukei(y, n), "#i#, ##0") &
! " & Format(Wari, "##0.0") & "%" & Chr(13) & Chr(10)

Next vy

TextBoxl. Text = TextBoxl.Text & "&&t" & " " & Format([____(5) |, "#, i, ##0")
End Sub
Private Sub 7 U 7 ClickQ

TextBox1. Text = "": TextBox2.Text = ""
End Sub

Private Sub #7T_ClickO
End
End Sub
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<COBOL7Os34>
WORKING-STORAGE SECTION.

01 FLG
01 MAX
01 TEMP
01 WARIAI
l
01 SYUKEI-TBL

PIC 9(0D).
PIC 9(02).
PIC 9C0T).
PIC 999V9.

02 SYU-T OCCURS 5.

03 SYU

01 HOZON-TBL.

02 HOZON
01 HEADER.

02 H-BUNRUIL
01 MEISAIL

02

02 M-TEN

02

02 M-KIN

02

02 M-WARTAIL

02
01 FOOTER.

02

02 TF-GOKEIL
PROCEDURE DIVISION
SYORI.

PIC 9(07) OCCURS 21.
PIC 9(02) OCCURS 20.
PIC X(12).

PIC X(02) VALUE SPACE.
PIC X(10).

PIC X(04) VALUE SPACE.
PIC Z, 777, 779.

PIC X(04) VALUE SPACE.
PIC Z7Z9.9.

PIC X(01) VALUE "%".

PIC X(16) VALUE SPACE.
PIC Z,77Z, 779.

OPEN INPUT URIAGE-F OUTPUT PRINT-F

INITIALIZE FLG
PERFORM UNTIL F
READ URIAGE
AT END
MOVE 1
NOT AT EN

SYUKEI-TBL
LG =1
-F

TO FLG
D

COMPUTE SYU(U-BUN U-TEN) = SYU(U-BUN U-TEN) + U-KIN
COMPUTE SYU(U-BUN 21) = SYU(U-BUN 21) + U-KIN

(1)

COMPUTE SYU(5 21) = SYU(5 21) + U-KIN

END-READ
END-PERFORM

PERFORM VARYING J FROM 1 BY 1 UNTIL J > 5
PERFORM VARYING COD FROM 1 BY 1 UNTIL COD > 20

(2) |

END-PERFORM

PERFORM VARYING K FROM 1 BY 1 UNTIL K > 19
MOVE K TO MAX

COMPUTE

L=K+1

PERFORM VARYING M FROM L BY 1 UNTIL M > 20

| OR SYU(J M) = SYU(J NMAX) AND HOZON(D) < HOZON(MAX)

IF | 3
THEN
NOVE M TO MAX
END-TF
END-PERFORM
IF K NOT = MAX
THEN
NOVE SYU(J K)  TO TEMP
\ )
NOVE TEMP T0 SYU(J MAX)

MOVE HOZON(K) ~ TO TEMP
MOVE HOZON(MAX) TO HOZON(K)

MOVE TEMP

END-IF
END-PERFORM
MOVE BUNRUI

(J) TO H-BUNRUIL

TO HOZONQMAX)

WRITE PRINT-R FROM HEADER AFTER PAGE
PERFORM VARYING K FROM 1 BY 1 UNTIL K > 20

(5)

MOVE TENMEI(TEMP) TO M-TEN
MOVE SYU(J KD TO M-KIN
COMPUTE WARTAT = SYU(J KD * 100 / SYU(J 2D)

MOVE WARTAT

TO M-WARTATI

WRITE PRINT-R FROM MEISAT AFTER 1

END-PERFORM

MOVE SYU(J 21) TO F-GOKEI
WRITE PRINT-R FROM FOOTER AFTER 1

END-PERFORM

CLOSE URIAGE-F PRINT-F

STOP RUN
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